
Accessories
Spare parts for conductor clamping device

Subject to technical modifications
Date: 06.2012

                                                              Order No.
Pressure spring for control valve 	 ERS-2 01
Thrust piece 	 ERS-2 02
Socket for conductor introduction 	 ERS-2 03
Pressure spring for clamping piston	 ERS-2 04
Seal for clamping piston 	 ERS-2 05

Clamping piston 	 ERS-2 06
Ventilation button 	 ERS-2 07
O-ring for pressure rod 	 ERS-2 08
PA countersunk screw – M3 x 10 	 ERS-2 09
Connection nipple, straight
M5a – 3 mm for air plug 	 ERS-2 10
Case ERS-2 11
Sealing ring - PVC 	 ERS-2 12
Connection nipple, angled 	 ERS-2 13
Control valve – 	 ERS-2 14
has to be fitted by RAWE 	
Pressure bar 	 ERS-2 15

	

                                                                Order No.
Hexagon screw M5 x 5 nickel plated 	 ERS-2 16
Felt seal 	 ERS-2 17
O-ring for locking pin 	 ERS-2 08
Flat connector, angled 	 ERS-2 19
Alu sealing ring 	 ERS-2 20

Hexagon screw M5 x 8 	 ERS-2 21
Locking pin 	 ERS-2 22
Bunch plug connector electr. 	 ERS-2 23
Clamping piston compl. = Item 5 and 6 	 ERS-2 24
Label for labelling (without illustration) 	 ERS-2 25

Threaded pin – M3 x 5 	 ERS-2 26
Cover plate for LKV (without illustration)	ERS-2 27
Cover plate for LKV, wide for push 	 ERS-2 28
button/switch (without illustration) 	
Polyurethane ester hose / blue	 ERS-2 29
NW 3 mm / 1 m 	
Polyamide 12 w plastic hose 	 ERS-2 30
according to DIN 73 389, outer 
diameter 4 mm / inner diameter 
2.7 mm / black / 1 m“ 

10 12 13 14 15 16 17 18 19

9.1


